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HIE & iR | REHRE (G | EHRE (th | IRESHRE (| ISHRE Gt | IGHRE G | IREHRE G | HE
F5cm) F50cm) £F100cm) F5cm) F50cm) F100cm)
[u Sv/h] [y Sv/h] [u Sv/h] [u Sv/h] [u Sv/h] [u Sv/h]
A 1 = 0.15 0.14 0.16
A 2 = 0.56 0.26 0.17 0.07 0.08 0.10
A 3 = 0.16 0.15 0.14
A 4 = 0.13 0.13 0.13
A 5 Co 0.12 0.10 0.08
A 6 = 0.15 0.11 0.12
A 7 = 0.33 0.46 0.42 0.15 0.17 0.18
A 8 = 0.19 0.17 0.15
A 9 = 0.20 0.13 0.13
A 10 = 0.13 0.15 0.13
A 11 = 0.17 0.16 0.14
A 12 = 0.22 0.16 0.13
A 13 = 0.23 0.19 0.17 0.10 0.10 0.12
A 14 = 0.18 0.20 0.16
A 15 = 0.16 0.19 0.17
A 16 = 0.17 0.16 0.18
A 17 = 0.20 0.22 0.16
A 18 = 0.14 0.15 0.15
A 19 = 0.12 0.13 0.13
A 20 = 0.13 0.12 0.12
B 1 = 0.22 0.16 0.14
B 2 = 0.13 0.15 0.14
B 3 = 0.18 0.17 0.16
B 4 = 0.20 0.19 0.16
B 5 As 0.10 0.10 0.09
B 6 As 0.15 0.17 0.16
B 7 As 0.21 0.23 0.20 0.12 0.14 0.15
B 8 As 0.11 0.14 0.14
B 13 = 0.19 0.15 0.16
B 18 + 0.14 0.14 0.15
B 19 T 0.32 0.19 0.17 0.15 0.12 0.11
C 1 = 0.14 0.12 0.12
C 2 = 0.13 0.15 0.14
C 3 = 0.14 0.17 0.14
C 4 = 0.20 0.18 0.15
C 5 As 0.09 0.09 0.10
C 8 As 0.11 0.12 0.10
[ 13 ] 0.15 0.13 0.12
C 18 [ 0.10 0.12 0.12
C 19 =z 0.23 0.19 0.21 0.21 0.16 0.14
C 20 = 0.22 0.19 0.17
D 1 As 0.08 0.08 0.07
D 2 As 0.10 0.09 0.09
D 3 E 0.21 0.15 0.13
D 4 & 0.12 0.13 0.13
D 5 As 0.12 0.09 0.10
D 6 = 0.18 0.14 0.12
D 7 E 0.15 0.12 0.13
D 8 As 0.08 0.08 0.11
D 9 Co 0.14 0.10 0.10
D 10 T 0.15 0.14 0.15
D 11 Co 0.13 0.13 0.12
D 12 T 0.41 0.21 0.17 0.15 0.16 0.14
D 13 + 0.25 0.20 0.17 0.15 0.14 0.14
D 14 = 0.25 0.19 0.14 0.12 0.12 0.12
D 15 =z 0.31 0.21 0.19 0.13 0.12 0.13
D 16 = 0.28 0.21 0.18 0.12 0.13 0.15
D 17 Co 0.13 0.13 0.14
D 18 T 0.13 0.16 0.19
D 19 + 0.25 0.21 0.18 0.09 0.10 0.11
E 1 1t 0.14 0.14 0.14
E 2 & 0.25 0.17 0.16 0.07 0.08 0.08
E 3 = 0.22 0.16 0.14
E 4 & 0.15 0.16 0.13
E 5 As 0.09 0.09 0.09
E 6 E 0.18 0.17 0.11
E 7 = 0.16 0.13 0.12
E 8 + 0.29 0.23 0.20 0.10 0.13 0.12
E 9 T 0.17 0.19 0.17
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HIE = WR | REHRE Gt | REHRE (b | ISHEE (G | IRGHRE G | IEHRE (b | IEHRE G | HE
E5cm) £50cm) £100cm) E5cm) £50cm) _£100cm)
[ Sv/h] [y Sv/h] [y Sv/h] [p Sv/h] [y Sv/h] [u Sv/h]
E 10 I 0.14 0.16 0.16
E 11 T 0.16 0.19 0.18
E 12 T 0.15 0.16 0.16
E 13 T 0.23 0.21 0.19 0.10 0.11 0.10
E 14 it 0.09 0.12 0.15
E 15 it 0.12 0.15 0.15
E 16 it 0.10 0.15 0.15
E 17 T 0.19 0.19 0.19
E 18 T 0.11 0.13 0.15
E 19 T 0.12 0.15 0.17
F 1 = 0.21 0.19 0.18
F 2 £l 0.20 0.17 0.15
F 3 = 0.24 0.16 0.14
F 4 = 0.20 0.15 0.13
F 5 As 0.14 0.09 0.11
F 6 = 0.20 0.14 0.13
F 7 = 0.20 0.18 0.13
F 8 T 0.19 0.18 0.16
F 9 T 0.14 0.16 0.15
F 10 T 0.16 0.16 0.18
F 11 T 0.15 0.16 0.16
F 12 T 0.09 0.10 0.11
F 13 T 0.12 0.16 0.16
F 14 T 0.15 0.17 0.17
F 15 T 0.20 0.20 0.18
F 16 T 0.26 0.24 0.21 0.12 0.13 0.11
F 17 T 0.20 0.22 0.21
F 18 Z 0.22 0.25 0.21 0.08 0.09 0.10
F 19 Z 0.23 0.24 0.21 0.11 0.10 0.10
F 20 E 0.21 0.19 0.17
G 1 ] 0.20 0.19 0.16
G 2 = 0.20 0.16 0.16
G 3 = 0.21 0.17 0.14
G 4 B 0.20 0.15 0.14
G 5 As 0.10 0.12 0.11
G 6 = 0.19 0.15 0.12
G 7 = 0.17 0.12 0.11
G 8 T 0.20 0.18 0.16
G 9 T 0.13 0.17 0.17
G 10 T 0.15 0.16 0.15
G 11 T 0.14 0.16 0.17
G 12 T 0.15 0.17 0.18
G 13 T 0.15 0.16 0.15
G 14 T 0.16 0.18 0.16
G 15 T 0.13 0.15 0.15
G 16 T 0.11 0.13 0.13
G 17 T 0.12 0.16 0.16
G 18 Z 0.41 0.33 0.31 0.10 0.09 0.10
G 19 T 0.09 0.11 0.14
H 1 = 0.22 0.19 0.17
H 2 £ 0.23 0.16 0.14 0.09 0.09 0.09
H 3 = 0.20 0.14 0.13
H 4 )= 0.20 0.15 0.13
H 5 As 0.12 0.10 0.11
H 6 = 0.26 0.15 0.13
H 7 = 0.19 0.17 0.14
H 8 T 0.17 0.21 0.17
H 9 x 0.15 0.20 0.19
H 10 T 0.15 0.18 0.16
H 11 T 0.18 0.21 0.18
H 12 T 0.17 0.18 0.17
H 13 T 0.11 0.13 0.16
H 14 T 0.18 0.19 0.17
H 15 T 0.13 0.16 0.14
H 16 T 0.11 0.13 0.15
H 17 T 0.13 0.15 0.15
H 18 Z 0.26 0.23 0.21 0.09 0.10 0.10
H 19 T 0.14 0.13 0.15
I 1 =3 0.23 0.17 0.17 0.09 0.09 0.09
I 2 3 0.21 0.17 0.14
I 3 )= 0.22 0.17 0.14
I 4 = 0.21 0.14 0.14
I 5 As 0.08 0.10 0.09
I 6 = 0.39 0.19 0.16
I 7 )= 0.20 0.15 0.12
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RETHRE (Hh | TREHRE (| IGHRE Gt | SHEE Gt | EHRE O | KETREGH | HFE
F5cm) £50cm) £100cm) F5cm) £ 50cm) £100cm)
[ Sv/h] [y Sv/h] [y Sv/h] [p Sv/h] [y Sv/h] [u Sv/h]
I 8 T 0.20 0.17 0.15
I 9 [ 0.16 0.16 0.17
I 10 T 0.17 0.17 0.17
I 11 T 0.19 0.20 0.15
I 12 T 0.16 0.17 0.15
I 13 T 0.13 0.15 0.14
I 14 T 0.13 0.13 0.12
I 15 T 0.16 0.16 0.18
I 16 T 0.18 0.18 0.16
I 17 T 0.22 0.22 0.19
I 18 T 0.18 0.21 0.20
I 19 T 0.15 0.14 0.15
J 1 £l 0.25 0.19 0.17 0.07 0.09 0.08
J 2 £l 0.18 0.15 0.15
J 3 = 0.19 0.16 0.13
J 4 £l 0.16 0.14 0.10
J 5 As 0.11 0.09 0.09
J 6 = 0.12 0.14 0.11
J 7 = 0.18 0.15 0.12
J 8 T 0.17 0.17 0.14
J 9 T 0.18 0.20 0.15
J 10 T 0.16 0.15 0.16
J 11 T 0.13 0.15 0.14
J 12 T 0.15 0.12 0.14
J 13 T 0.12 0.15 0.15
J 14 T 0.12 0.14 0.13
J 15 T 0.14 0.18 0.15
J 16 T 0.17 0.18 0.17
J 17 T 0.20 0.16 0.19
J 18 T 0.13 0.14 0.15
J 19 T 0.10 0.11 0.12
K 1 E 0.24 0.18 0.15 0.09 0.11 0.10
K 2 3 0.33 0.32 0.24 0.15 0.14 0.12
K 3 = 0.42 0.34 0.25 0.13 0.15 0.15
K 4 As 0.14 0.16 0.15
K 5 As 0.12 0.11 0.08
K 8 T 0.21 0.16 0.15
K 9 T 0.24 0.16 0.16 0.09 0.12 0.12
K 10 T 0.13 0.16 0.15
K 11 T 0.17 0.17 0.16
K 12 T 0.12 0.12 0.13
K 13 T 0.12 0.12 0.12
K 14 T 0.12 0.14 0.12
K 15 T 0.17 0.15 0.16
K 16 T 0.17 0.16 0.15
K 17 T 0.16 0.17 0.16
K 18 [ 0.13 0.14 0.17
K 19 T 0.14 0.10 0.10
L 1 As 0.16 0.17 0.14
L 2 it 0.82 0.71 0.42 0.22 0.21 0.20
L 3 As 0.23 0.21 0.17 0.18 0.17 0.19
L 4 As 0.21 0.15 0.17
L 5 As 0.12 0.10 0.10
L 6 As 0.11 0.10 0.09
L 7 T 0.14 0.12 0.10
L 8 T 0.15 0.16 0.15
L 9 T 0.16 0.16 0.15
L T 0.20 0.23 0.20 0.09 0.09 0.12
L T 0.14 0.15 0.15
L T 0.17 0.17 0.16
L T 0.12 0.14 0.14
L T 0.16 0.15 0.15
L T 0.15 0.15 0.15
L T 0.15 0.17 0.15
L T 0.18 0.16 0.13
L T 0.21 0.18 0.16
L T 0.09 0.10 0.09
M T 0.20 0.19 0.17
M T 0.15 0.15 0.16
M T 0.15 0.14 0.14
M T 0.15 0.15 0.14
M T 0.12 0.12 0.14
M T 0.17 0.16 0.14
M T 0.17 0.16 0.15
M T 0.14 0.15 0.14




[EE TR BREEAGE
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F5cm) £50cm) £100cm) F5cm) £ 50cm) £100cm)
[ Sv/h] [y Sv/h] [y Sv/h] [p Sv/h] [y Sv/h] [u Sv/h]

M 19 T 0.11 0.11 0.12

N 11 T 0.19 0.18 0.17

N 12 T 0.19 0.16 0.18

N 13 T 0.16 0.16 0.16

N 14 T 0.16 0.16 0.16

N 15 T 0.15 0.14 0.14

N 16 T 0.15 0.14 0.14

N 17 T 0.13 0.15 0.14

N 18 T 0.15 0.14 0.12

N 19 T 0.18 0.15 0.14

6] 11 T 0.17 0.19 0.19

(0] 12 T 0.16 0.19 0.16

6] 13 T 0.16 0.16 0.14

(0] 14 T 0.18 0.18 0.15

6] 15 T 0.17 0.16 0.17

(0] 16 T 0.17 0.16 0.16

6] 17 T 0.18 0.15 0.15

(0] 18 T 0.14 0.17 0.15

6] 19 T 0.16 0.15 0.15

P 11 2 0.26 0.27 0.25 0.10 0.12 0.12
P 12 T 0.21 0.23 0.21 0.09 0.11 0.10
P 13 T 0.18 0.17 0.17

P 14 T 0.28 0.27 0.23 0.11 0.11 0.12
P 15 Z 0.26 0.22 0.22 0.09 0.10 0.11
P 16 T 0.19 0.18 0.16

P 17 T 0.14 0.18 0.18

P 18 T 0.29 0.23 0.20 0.15 0.14 0.16
Q 11 Z 0.26 0.24 0.20 0.09 0.10 0.10
Q 12 Z 0.32 0.25 0.26 0.08 0.10 0.10
Q 13 Z 0.36 0.32 0.28 0.10 0.10 0.10
Q 14 Z 0.31 0.27 0.23 0.07 0.09 0.08
Q 15 Z 0.30 0.27 0.24 0.11 0.10 0.08
Q 16 Z 0.31 0.25 0.21 0.11 0.10 0.09
Q 17 T 0.16 0.14 0.16

Q 18 3 0.25 0.20 0.17 0.11 0.11 0.13
R 11 2 0.31 0.23 0.20 0.09 0.13 0.11
R 12 Z 0.29 0.26 0.23 0.13 0.12 0.11
R 13 Z 0.27 0.24 0.21 0.09 0.08 0.10
R 14 Z 0.28 0.23 0.19 0.09 0.11 0.10
R 15 Z 0.15 0.17 0.15

R 16 E 0.19 0.16 0.16

S 11 = 0.20 0.20 0.17

S 12 £ 0.17 0.16 0.15
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